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CBT Sample assessment model answers

Cash Management (CSHM)

Sample assessment 1

Task 1
[image: image2.png]Use the table below to forecast the closing cash position at 31 December 20X4.
Use brackets or minus signs where appropriate.

loperating proft 50000
[change in rade receivables ~10000
[change in trade payables 5000

[Adiustmentfornon-cash ftems 20000
[Purchase ofnon-current assets 75000
[raxpaia ~19000
INet change in cash position 1000

[Forecast cash position 1 January 20x4 28,000
[Forecast casn position 31 December 20x4 29000





Task 2

[image: image3.png](a) Create an index for the price of the commodity using month 1 as the base period.

Price 216800 | £18144 | £189.84 | £20498

Index 108 113 122

A company uses the least squares regression line to forecast sales. The regression line has been identified as:

y=316,000 + 1,800x

where yis the sales value and xis the period. September 20X4 was period 22

(b) Complete the following sentence.

The forecastvalue of sales for December 204 using the regression line is: £ [351000





Task 2 (continued)

[image: image4.png](c) Assuming that each unit has a selling price of £25, the forecast sales volume for December 20X4 based on the.
calculation in part (b)is [1a240 | units.

‘The cost of manufacturing product PD81 is £190.

() Calculate the forecast selling price of the product if the company requires a mark up of 40% or a margin of 20%.

‘The forecast selling price to achieve a mark up of 40%is: £

‘The forecast selling price to achieve a margin of 20% is: £

[256.00

23750

(tothe nearest penny).

(tothe nearest penny).





Task 3

[image: image5.png](a) Complete the table below to identify the total sales receipts forecast for periods 4 and 5.
Identiy the forecast trade receivables balance at the end of period 5.

Total sales receipts 248495 228045

The trade receivables balance atthe end of period §1is forecastto be: £ 246585]





[image: image6.png](b) Complete the table below to identify the total payments for labour costs forecast for periods 4 and 5.

Total labour costs. 20480 19140





[image: image7.png]{c) Complete the table below to identify the value of trade payables at the end of period 3 that will be paid in
periods 4 and 5.

‘Seftlement of rade payables 88915 68180






Task 4

[image: image8.png][Receipts from sales 336,200 360,000
[Proceeas from share issue ] 292500)
[Investment income 2080 2080)
[Total receipts 338280 ‘654580)
PavmEnTS

[Purchases (62,400)| (68,000)]
[Wages (112,000)| (120,000
[other operating expenses (19.295)| (20,500)]
[Purchase of plant and machinery -89600 38400
[rax payment ] 242000
[Bank overdrattinterest -430 296
[Bank oan repayment -8505| -8505|
[Total payments 202280 497801
[Net cash flow 45000 156779
[opening bank batance 120000 74000
[Closing bank balance 74000 82779)





Task 5

[image: image9.png](a) Complete the table below to calculate the sales receipts expected in periods 1 to 4 if the settiement

discountis offered.

Period 1 sales

492000 | 49200 | 243540

123000 | 49200

Period 2 sales 516,000 51600 | 255420 | 129000
Period 3 sales 530,000 53000 | 262350
Period 4 sales 450,000 45,000

Revised forecast sales receipts| 49,200 | 295140

431420 | 488850

1261310

(b) Complete the sentences below.

Receipts from sales in periods 1to 4wl [increase Rl bv [5:21

The seffement discount will [reduce iUl total profifor all six periods by: £ [153340

to [55 9% oftotal sales.

9% ifthe settiement discountis offered.

which is equivalent





Task 5 (continued)

[image: image10.png](€) Which one of the following identifies the impact on cash flow of offering a settlement discount
to credit customers?

Total cash recsipts remain the same but customers take less time to pay.

Total cash recsipts reduce but customers take less time to pay.

Total cash recsipts increase but customers take less time to pay.

Total cash receipts remain the same but customers take longer to pay.

Total cash recsipts reduce and customers take longer to pay.

Total cash recsipts increase but customers take longerto pay.





Task 6

Cash sales (6% adverse)

Possible reasons

· More customers taking advantage of credit terms

· There could have been a decrease in sales volume or a reduction in selling price

· Inaccurate forecasting

· Depending on the product sales could have been affected by economic or  environmental factors

Possible actions

· If sales volumes have deceased then improvements may need to be made to the product

· Better marketing strategies to improve sales volume

· If prices have been permanently discounted then revise future budgets accordingly

Credit sales (7% favourable)

Possible reasons

· Increased credit sales leading to increased receipts

· Improved credit control procedures

Possible actions 

· If sales volumes have not improved then it is possible that the favourable variance in this period will result in an adverse variance in subsequent periods and therefore future budgets should take this into consideration

Wages and salaries (5.05% favourable)

Possible reasons 

· If sales volumes are falling then direct wages may fall if manufacturing is reduced

· Less overtime may have been needed during the period

· There may have been a reduction in staff due to natural wastage or leavers which have reduced the payroll costs for the period

Possible actions

· If there has been a reduction in manufacturing or staff levels and this is expected to continue then future budgets will need to be adjusted accordingly

· If production levels have remained constant and have been accomplished without the need for overtime then identify any changes in production processes that have enabled this and continue for the future

· If the reduction is due to staff leaving which will need to be replaced then future budgets should not be reduced

Task 6 (continued)

Capital expenditure (5% adverse)
Possible reasons
· Earlier expenditure may have been deferred to this period

· Prices may have increased since the budget was set

· The supplier may have reduced the availability of credit for capital purchases

· More assets or higher specification assets may have been purchased

Possible actions
· Future capital expenditure could be contracted for in advance with prices and payment terms agreed to avoid unexpected increases

· Capital expenditure could be deferred to a later period to avoid an adverse variance

Task 7

[image: image11.png](a) Monetary policy is a process where a central bank

increases or decreases the supply of certiicates of deposits.

increases o decreases the supply of money.

increases o decreases the value of 10ans to businesses.

increases o decreases rates of tax on individuals and businesses.

(b) In times of recession banks often

increase the availabilly of l0ans and overdrafts

‘convert overdrafts to loans to obtain a fixed charge.

‘convert loans to overdrafts to increase interest eamed.

restrictthe availabiliy of loans and overdrafts





Task 7 (continued)

[image: image12.png](c) Calculate the following:

The inventory holding periodis [55 days.
The trade receivables collection period s [45 days.
The trade payables payment periodis [39 days.

(d) Using your answers from part (c) calculate the cash operating cycle for the company.

The cash operating cycle forthe companyis 65 days.





Task 8

[image: image13.png]() Which one of the following best describes a variable rate of interest?

Interest rate thatis quaranteed notto exceed a specified level

Interest rate that remains the same for the period of borrowing.

Interest charge that floats in line with bank base rates

Interest rate that fluctuates in line with an agreed indicator.

(b) What termis used to describe the effective rate of interest that a borrower will pay on a loan?

—

Average Percentage Rate.

Actual Percentage Rate

Actual Perfect Rate





Task 8 (continued)

[image: image14.png](€) How much will an investor need to invest for one year to eam £3,080 interest, assuming a fixed annual rate of
interest of 2.8%7

£ [110000

will needto be invested to eam annual interest of £3,080 at a fixed interest rate of 2.8%.

(d) A bank has offered to lend a company £80,000 to be repaid in 12 monthly instalments of £6,900 per month.

The flatrate of nterest being chargedis [35 %.

(€) Calculate the interest yield (to 2 decimal places) on 6.4% Treasury Stock 20X4 with a current market price of £116.

The interestyieldis [552 | %.





Task 8 (continued)

[image: image15.png]() Which of the following are types of security for borrowing?
() Floating charge
(@) Fixed charge

i) Variable charge
®) Loan charge

() and (i) only

i) and (w) only

(), i) and i) only

i) and (v) only

Allofthem





Task 9

Hire purchase agreement

· A hire purchase agreement will enable the company to purchase the plant and pay for it in instalments over 4 years 

· Interest will be charged based on the balance outstanding and an interest rate set at the beginning of the finance term 

· The plant will remain the property of the hire purchase company until all the instalments have been made however the company will be responsible for repairs and maintenance during the term of the hire purchase agreement 

· As the company will have substantially all of the risks and rewards of ownership the plant will be shown on the statement of financial position as an asset at its full purchase price 

· The balance of the hire purchase outstanding will be shown as a liability on the statement of financial position. The amount due within one year will be included with current liabilities and the balance with non-current liabilities.

· Interest paid on the loan will be debited to the statement of profit or loss 

· The balance of the loan in non-current liabilities is classed as long term debt and will therefore be included in the gearing calculation  

· The gearing of the company will increase which could affect the company’s ability to raise additional finance. The plant will not be available for other lenders to take as security because the hire purchase company will hold title until the final repayment has been made 

Operating lease

· This is a straight forward lease agreement where the company would hire the plant 

· The leasing company would retain ownership of the assets however some operating lease agreements require the leasee maintain and repair the asset 

· The lease payments are included in the statement of profit or loss 

· The asset is not included on the statement of financial position and the obligation under the operating lease is not included in liabilities 

· The obligation under the operating lease will be included as a note in the financial statements but will not be included in the calculation of gearing 

· The company will show reduced profits due to the lease repayments 
Equity injection

· The company will raise funds from the existing shareholders of the business, from new shareholders or from a combination of both 

· The additional funds raised will be used to purchase the plant outright 

· The plant will be included in non-current assets on the statement of financial position  

· There will not be any cost to the statement of profit or loss because there will be no borrowing associated with the asset and therefore no interest payments to be made 

· The equity position on the statement of financial position will increase which will have the effect of reducing gearing assuming that there is no other increase in long term borrowings 

· The company will be in a stronger position to raise additional finance with lower gearing and the plant available as security 

· If the shares are offered to new investors then existing shareholders will experience a dilution of control and possibly earnings which may cause discontent

Task 10

Land

· Historically land is deemed to be a fairly safe investment as there is a finite supply

· However in the last decade land values have been volatile sometimes resulting in a capital loss for investors

· Therefore the initial investment of £500,000 may not be fully realised if the market value is lower than £500,000 at the date of sale 

· Land is usually seen as a long term investment and may take longer than three years to make a suitable return for the company 

· The investment can only be realised once the land is sold and the speed of this will depend upon the economic environment at the time of sale 

· The liquidity of the company may be adversely affected if they are unable to realise the full £500,000 at the end of three years

· It is unlikely that the return could be forecast with any certainty at the time of purchase 

Long term bank deposit account

· Investment in a bank deposit account is generally perceived to be a low risk option

· The return is likely to reflect the low risk and therefore be substantially less than could be earned on other investments 

· Traditionally bank deposit accounts were seen as risk free from the perspective of the loss of capital value. However in light of the global financial crisis there is a risk of loss of capital value if the deposit is not covered by a government backed guarantee scheme 

· The deposit account may have a minimum notice period to avoid early withdrawal however  the funds could be available immediately if required even though the company would achieve a lower return than expected 
Shares in public companies

· Shares in public companies are generally perceived to be high risk because of market volatility and lack of control over business decisions made by those running the company 

· However high returns can be achieved with the right portfolio of shares held for a reasonable period of time 

· The company could spread the risk by selecting a portfolio which includes both low risk and high risk companies 

· The return achievable cannot be identified with any certainty at the time of investment 

· As shares can be sold at any point after purchase it would take only a few days for the company to realise its cash as long as it is prepared to take the price offered at that point in time 

· The company could also realise its cash piecemeal as and when required 

· The fees for buying and selling will need to be offset against any dividends and increase in share price when calculating the return 
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